Specifications for item 133-1044

- 72.00" >

A
17.00" ] Jso"

Y \

|<—> 3.00" |
<~ 850" —»| < 27.50" > | - 27.50" >|<«— 850" —>
‘ -~ 12.50" ——-»‘
t | |
14.50"

\HIGHLﬁ\RD

|3.50"
- 19.25" -
PRODUCTS GROUP LLC

3350 NW Boca Raton Blvd., Suite B2 Boca Raton, FL, 33431 Side View
Phone: 561.620.7878 Fax: 561.620.8668



STEP1: PLACE THE 2 (OR 3 DEPENDING ON MODEL)
SURFACE MOUNT LEGS ON A LEVEL SURFACE. (ESTIMATE
SPACING).

STEP 2: PLACE A 3" X 4” PROFILE OVER THE INSIDE SET
OF HOLES ON THE SURFACE MOUNT LEGS, MAKING SURE
THE “MOLD” SEAM IS FACING DOWN.

STEP 3: SLIDE PROFILE TO ALIGN PILOT HOLES WITH THE
CORRESPONDING HOLES OF THE SURFACE MOUNT LEGS.

STEP 4: FASTEN THE BOARD TO EACH BENCH END FROM
THE UNDERSIDE OF THE BENCH ENDS USING 6 OF THE 3”
LAG SCREWS & WASHERS PER BENCH END.

STEP 5: REPEAT FOR REMAINING 3 X 4’S.

NOTE: PROFILES MAY BE DIRECTIONAL

ASSEMBLY INSTRUCTIONS
ITEM 133-1044 SURFACE MOUNT

4 | @
REF# | QTY | QTY | DESCRIPTION
1 2 3 | BENCHEND
2 3 3" X 4” X 4 PROFILE
2 3 |3”"X4” X6 PROFILE
HARDWARE KIT
3 12 | 18 ""'-"=:::::.‘,,.‘, 3/8" X 3" LAG SCREW
4 12 | 18 ' 3/8” FLAT WASHER

AND YOU MAY NEED TO TURN THEM END-FOR-END IF THEY DO NOT LINE UP SQUARELY.

Your 100% recycled plastic park bench will give you many years of pleasure and pride,
knowing that you did your part in keeping plastic waste out of landfills and protecting our environment.

\HIGHLﬁ\RD

PRODUCTS GROUP LLC

3350 NW Boca Raton Blvd., Suite B2 Boca Raton, FL, 33431
Phone: 561.620.7878 Fax: 561.620.8668




ASSEMBLY INSTRUCTIONS
ITEM 133-1044 INGROUND MOUNT

STEP 1: PLACE THE 2 (OR 3 DEPENDING ON MODEL) , ,
INGROUND LEGS DOWN SO THE HOLES IN THE TOP OF ARE 4 6
VERTICAL TO THE GROUND WITH THE “SPIKED” END

SLANTING AWAY FROM YOU. (ESTIMATE SPACING). REF# QTY | QTY | DESCRIPTION

1 2 | 3 |INGROUND BENCH END
STEP 2: PLACE A 3" X 4" PROFILE ON THE GROUND IN 5 3 3" X 4’ X 4’ PROFILE
FRONT OF THE BENCH LEG TOPS, MAKING SURE THE

“MOLD” SEAM IS FACING THE TOP OF THE BENCH LEG. (THE 2 3 |3"X4" X6 PROFILE

“MOLD” SEAM SHOULD BE FACING THE GROUND WHEN THE
BENCH IS INSTALLED IN AN UPRIGHT POSITION. ARDWARE KIT

Wy 3/8” X 3 LAG SCREW
STEP 3: SLIDE PROFILE TO ALIGN PILOT HOLES WITH THE 4 | 12 | 18 “ 3/8” FLAT WASHER
CORRESPONDING HOLES OF THE BENCH LEGS. FASTEN (=2

THE BOARD TO EACH BENCH END FROM THE UNDERSIDE
OF THE BENCH ENDS USING 6 OF THE 3" LAG SCREWS &

WASHERS PER BENCH END.

STEP 4: PLACE THE REMAINING 3” X 4” PROFILES ON THE BENCH LEGS, MAKING SURE THE “MOLD” SEAM IS FACING
DOWN. REPEAT STEPS 2 & 3.

STEP 5: ONCE THE BENCH IS ASSEMBLED PLACE THE BENCH WHERE YOU WANT TO INSTALL IT. MARK THE GROUND
WHERE THE “SPIKED” ENDS ARE. DIG POSTHOLES APPROXIMATELY 18 INCHES DEEP WHERE YOU MADE YOUR MARKS.
CHECK THE DISTANCE FROM THE GROUND TO THE TOP OF THE BENCH SEAT. WE RECOMMEND THE SEAT HEIGHT BE
APPROXIMATELY 177, BUT NO LOWER THAN 15”. ADD OR REMOVE DIRT (OR ADD SMALL ROCKS) TO ADJUST HEIGHT.
PLACE A STRAIGHT ITEM ACROSS THE SEAT TO ENSURE THE LEGS ARE ALL AT THE SAME HEIGHT TO PREVENT
BOWING OR SAGGING IN THE MIDDLE. PLACE THE “SPIKED” ENDS IN THE HOLES, FILL WITH DIRT OR CONCRETE FOR A
MORE PERMANENT INSTALLATION. USE A LEVEL TO CHECK FINAL ALIGNMENT OF THE BENCH AND ADJUST AS
NECESSARY.

NOTE: PROFILES MAY BE DIRECTIONAL
AND YOU MAY NEED TO TURN THEM END-FOR-END IF THEY DO NOT LINE UP SQUARELY.

Your 100% recycled plastic park bench will give you many years of pleasure and pride,
knowing that you did your part in keeping plastic waste out of landfills and protecting our environment.

A\\
3350 NW Boca Raton Blvd., Suite B2 Boca Raton, FL, 33431 \HIGHLAN D

Phone: 561.620.7878 Fax: 561.620.8668 PRODUCTS GROUP LLC




\HIGHLﬁ\RD

PRODUCTS GROUP LL

%

\H ’/

3350 NW Boca Raton Blvd., Suite B2 Boca Raton, FL, 33431
Phone: 561.620.7878 Fax: 561.620.8668




	133-1044
	133-1044b
	133-1044c



